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Rather, here we are discussing a case where he gave it to him as
collateral, and they argue regarding the ruling of Rabi Yitzchok

OVERVIEW

Regarding the dispute between »ar (who maintains 7213 X7 ¥7917 1"v2) and &2
(who maintains 721 X177 X271 1807%), the X3 initially assumed that it is a duplicate
of a dispute in a Xn*™12 between 2°Xin regarding a Jew who lent money to a " [or
the reverse a "1 who lent money to a Jew] with y»nr as a security, whether this y»n
is M after noo or not. Subsequently the X3 recanted' and established that the
npYonn of the o°Xin is whether we follow the ruling of prx> ' that Nown nnp n'"va in
a case where the borrower is a "1a. Our M901N discusses how *ax will interpret this
NXN>12

nvoINn asks
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The X'"2% is astounded! How will 2y interpret this Xn>2?! For perforce the

o°Xin in the XN™12 argue regarding the ruling of 3" whether a 58w is A1p the 1ow» of a
N3 -
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However the X2° where it states, ‘a 21 lent a 82w for his Y71 as a security,’

why is it that everyone agrees that the X% is 92 on >"21>"2? For -
- 3729 NI Y9997 1199 N3P NYT 23 9 9N

Even though the 731 did not acquire the y»r, nevertheless the Jew should not be
72w on °"21°"2, since the " collects the 115wWn retroactively from the time of the loan!

moon has a question even on the XY™ -
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! The 90 of the Xn>>12 stated that if a M3 lent money to a Jew with yan as a security all agree that it is 790X after roD
(since a " is certainly not 71 a Nown from a 9%7w°). Therefore we cannot assume that any of the 2°Rin maintains
721 RI7 ¥19n? (which poses a difficulty for »ak, which our maoin addresses), for otherwise why is the 12w 8w,
since the "3 acquired the ¥y191% yan from before nos.
2 [See footnote # 1.] This explains the Xw™ of the Xn»12 (where a Jew lent money to a ™ and the ™ deposited the
ynn as a security by the Jew), where the p"n maintains he is not 12 on >"'21°"2 since a YR’ is not A1 a NOW» from
a "33, while n"1 maintains he is 7121 since a YRW” is 71p a 110w even from a M.
3 When the "3 eventually collects the y2n as payment for his loan it is considered (according to »ax that X7 217
7213) that this yan belonged to the "3 from the time the loan took place — before 05!
4 Others amend this to read 772 2"'n% 72w (instead of 11°3 7"a% "W).
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And even in the X" (where the X7 lent money to the »x for his y»n) why is
the HRW° not 72w on >"21 "2 according to the 2"n, since ;721 X7 Yoy’

N1D0IN answers:
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And the X"2%9 explained that now when we establish that the dispute is in

regards to the ruling of Prxs '3 (whether Nown mp n"v2 applies to ™31 7RW>) -
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The &n>>12 (in the XwM) is discussing a case where the »X2w> never collected the

vn for his loan since the 5121 eventually redeemed the ynn -
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So that now the dispute between X291 2R is not applicable here at all -
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But rather the p"n and n"1 argue regarding this issue, that according to the one

(") who maintains he is 92 on °"21°"2, he maintains -
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That a YR 2> acquires (an ownership in) a 119wn even from a "3, so the 115wW» of

vnn is considered as if it is in the possession of the 87w (and he is 721w on *"21°"2) -
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However, the one (the ?"n) who maintains that the X% is not 92 on >"21°"3,
he maintains that a 582> does not acquire a 1ow» from a 21, so therefore the

v was never in the possession of the x7w». This explains the Xw™ according to »2ax -
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And in the 8250 all agree that the %72 is 92 on *"21 "3, since all agree that a
1321 is not 7P a Nown (from a HXw°), so therefore the Nown was DX W nw=a.

This is concerning the Xn»72 where the 11own was taken back by its owner -
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However our 1w», which stated, ‘a 121 who lent, etc. the y2m is IR372 N, is

discussing a case where the X" did not redeem it but rather the 71 took it as
payment for his loan and therefore since 721 X177 37917 (according to »aR), it belonged to the *121

5 Even if the "n maintains that a >33 X W is not N2wn 1P, nevertheless since 7213 X177 ¥19172, when the 8w will
eventually collect the y»an for his loan, it is considered that he owned this y»r from the time of the loan — before ros!
6 The 131 (after he deposited the ynn by the Y82 as a security for his loan) paid up the loan and took back his yan.

7' X371 72X argue in a case where the 7191 took possession of the security as payment for the loan (the m“ did not pay
him); where according to »2X it is considered as if this security always belonged to the 7%, and according to X217 it
belongs to him only from the due date (of the loan). However if the m> paid the loan and took back the security, all
agree that it never belonged (completely) to the m?n (except for the [possible] ownership according to prx® ™).
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(from before no»d), and is X172 N after noo -
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For if the mwn would be discussing a case (as the Xn»M2 is) where the HX >
redeemed the y111 (by paying the »721 and taking back the y1n) it would not be 0
X173, for even though the X713 shortly establishes the 771wn in a case where the
SR told the *21, “if I do not pay you, the yni is yours as of now’, nevertheless
how can that be effective, if the Yxw> was 779 the yan.

SUMMARY
The rule of 77212 &7 ¥7917 is relevant only if the mM% was not 7715 the 1OwA.

THINKING IT OVER

1. mvoIn explained that (according to »aX) the Xn>71 is discussing a case where
there was 7175 and the m1wn is discussing a case where there was no 7°79. How is it
according to X17; the cases of the mwn and Xn>93, are they discussing with or
without 775?

2. In what way is the ruling of 112wn 1P n"va ‘stronger’ (more effective) than the
ruling (according to **aX) that 7213 X177 ¥1917 11"va?

8 pwoyn can be effective only if ultimately the 9X72° never paid the loan and the *31 took the ynn as payment,
therefore since the YR W said 1"wovn, the 121 owned the v from before noo; however the *121 does not own the yan
at all if ultimately the X" paid up the loan and took back the y»n. [It should be noted that according to »ax there is
no need to be discussing 1woyn, since he was not 779 and 7213 K17 ¥151Y.]
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